Multiplying Decimals By 10, 100 or 1000


(a) 59 x 10 =					(g)	0.4 x 10 =
(b) 43 x 100 =					(h)	3.7 x 100 =
(c) 724.3 x 100 =				(i)	5.637 x 100 =
(d) 3.04 x 10 =				(j)	22.4 x 1000 =
(e) 48.24 x 10² =				(k)	1.89 x 100 =
(f) 67.9 x 1000 =				(l)	0.83 x 103 =


Dividing Decimals By 10, 100 or 1000

(a) 59 ÷ 10 =					(g)	11 ÷ 10 =
(b) 63 ÷ 1000 =				(h)	95.9 ÷ 100 =
[bookmark: _GoBack](c) 59 ÷ 100 =					(i)	647.7 ÷ 10² =
(d) 10.8 ÷ 10 =					(j)	0.85 ÷ 10 =
(e) 351 ÷ 10³ =				(k)	7653 ÷ 1000 =
(f) 0.02 ÷ 100 =				(l)	903.5 ÷ 104 =


